POEIRFTL GG U P A 0 E AT IR 00 # R 4 R IR AR
TLE R 1 2 A1 42(78605) KFHE B » H BT
LEHME(2): REEME

AR O rFEEL-%EG > X ¥
®mui~33%{§&4{%§$
AL S do s o R )RR e PR
®@-Fé& M p vEnfe"*Fé%il F3 s
[>] +H[CIAG [CE|[TAXH [TAXH[GT M
1R B ARS A ) B “i&’\ TSRS 1A
o TR ¥ ’*ﬁia‘rlok\ P Ed

pul

P
@E XLy > FRFGHAUELSFE o

P -

FEP AR REE TG RE2Z AN [104] BRE AR EARIEY S 2 3 BLEE
E g AL > TEEF T g plEg >N Ufa‘# TFEZ = & 3 ARP|E S RIPF > P TR B IR
BRETE S enplRE 2 3 RFLELZP? [ ViREF 5 - 5358 255 R])
[15 4 )

211
& * PIEEHM R 5 £(3mm+5ppm) ~ Bl A R 5 2072 R BEPIA-B B g2 #EES
120.00 2= > ¥4 E % 30.000 & :
(- )izt ;;m BLEF2 kTR HMNZEZALV ELZR? [64]
(Z )3 E kTEg2 gL 2R E LR ? [104])
()7 & Tk TREd HZ R <P Ax3mm 2T > BliZdrim g2 2 [10 2]
(3 : cos30°=0.8660 - sin30° = 0.5000)

/e =

ME O RERIE S URES B2 R AL 0 FREAY

(- )ig w0 ~ SARLERIp S 2 P hi @ ? [5 4]

(F)FH @ AW e R R B SRR ? [5 4]

(2 )k R @ 1S AR < s 5 1.023m ~ # AR 3 5 1.328m > i ¢ ariSARER R
#2183 200.000m » fewi AR B2 § A2 o [10 4]

(2 )hefe te T2 RIE = % ST 2?2 [54]

wee

Typ P FCIRATR RAAR TR > S A B RATRT L H RERE S S TM
RAF P AT ESRL 12175 ¢ & 2 R FS 4 0.9999 0 # AEF £ £ 250,000 2 =

(- )REEP P LI ERRFFZRLE [54]

(= )f#RfEAdRd 28 e [54]

(=)@ b e 5 1/5,000 23 R B E S BB KRGS 30.000 24 0 RIGEA B
Bectrf b (3 5 JBEMLE S 0 7 [5 4]

(m)f1% B HAPEERS » R R E% > FMZA B2 JEd 5 1,490.840 2 ¢ » 32455 gha
FRIEELE ] * 3 R AT 92 pEdApt 0 B A 3L 7 (RGP LA ?ﬂ F34) (10 2]



